
MAT0024 Test 3

D. Howard 3-16
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1. In which quadrant(&!s the second coordinate negative? \.11L ~ ")II. tJI.. \I (-\-\"~)
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2. The table contains real data of the number of farms F in thousands during year

x. Make a line graph of the data. Be sure to label the axes with appropriate scale.

3. Findthree ordered pairs to the equation y = llx.
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4. Graph the line with slope -2 and passes through the point (0,-2). Besure to3

label the axes with appropriate scale. _ ~ \ 2 '('\ci"'f 3
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'f
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6. Giventhe equation - X - - = 1.
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a.) Findthe coordinates of the x-intercept.
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b.) Findthe coordinatesof the v-intercept. \eA-
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c.) Sketch a graph of the equation. Besure to label the axes with appropriate
scale.

7. Write an equation of a line with slope -2 and passes through the point (0,-5).
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8. Write an equation of a line which passes through the points (0,4) and (-5,0).

~ ~ (Y\ X + b ; '\Y) = 1?. -'I, -=- 0- 4 :: ~ :=. ~
X2 -)<, -5-0 -5 5"

9. Write an equation of a line with slope 4 and passes through the point (1,1).
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10. Sketch the graph that models the given situation. The distance that a boat is
from a harbor if the boat is initially7 miles from the harbor and arrives at the
harbor after sailing at a constant speed for 9 hours. Besure to label the axes with

appropriate scale. ll(V\\\e.5:. \1(\\-h"..DIJ~7 W\; =>( OJ «1)
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11. Givenx = 5y -7.
a.) Writethe equationin y = mx + b form.!_
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b.) Findthe coordinates of the y-intercerbt.

c.) Find the slope.

d.) Sketcha graph. Be sure to label the axes with appropriate scale.
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12. From 1985to 2000, the percent Pof total musicsaleswith a certain format is

modeled by P = 5.Bt - 11507, where t is the year.'1= m}(+ b
a.) State the slope of the equation.

[rn = 5. g~

b.) Interpret the meaning of the slope in the context of the problem.
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c.) What was the percent of music sales for the year 2000?
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d.) In what year was P = 64%?,
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